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5.
seminář LC
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Chemická rovnováha :
v1

v2

v1 =  v2

a A +  b B c C +   d D
v1

v2

v1 =   k1 • [A]a • [B]b

v2 =   k2 • [C]c • [D]d
v1 =  v2

k1 • [A]a • [B]b     =   k2 • [C]c • [D]d

← Guldberg  Waage 

K  =          = 
[A]a • [B]b

[C]c • [D]dk1

k2
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Rychlost reakce :

~
Δ [A]

Δ t
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v  =   k • [A] kinetická rovnice
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v  =  - 1 / a   •  Δ[A] / Δt

v  =  1 / c   •  Δ[C] / Δt

v  =  - 1 / b   •  Δ[B] / Δt

v  =  1 / d  • Δ[D] / Δt
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v

[S]

saturační křivka  =  ?
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v

[S]
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[S]
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v

[S]

v  =  k  •  [S]0

=  k  • 1 

=  k

v  =  k  • [S]1

Reakce 1. a 0. řádu :
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Porušení rovnováhy vnějším zásahem (akce)

vyvolává proces (reakci), který se snaží vnější

zásah zrušit.
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